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Alpha Particle Fires at Noders

v
= OVE 192

.....D &=79(lbx
a=
2(libx10---

K k- Id

9 of le= 1
.
belo-k

R=VE
k= 9x109

tmiz Ka m of e
= 9 .

11x10) by



Four Charges in a savre ar

1) Fint Va origin-V=k5
n -39

=ke VE- K

V=
2)Multiply U b 9

V= TUE =Va

3) Convert UE->
R

Va = Emo
?

solve for v



Election through ElettRed
0. In =Ax Y- N

A- >

FF-- ↳
3 .. mass ofe= 9

.
//X6-34)

9 of =libxlo"C
a LF FIMG

of a = E
==Eg

b) Vo =3xlom/s
↳

4) Dy = Vod+ +2D
+

↑
g



Electrons this Resistin

Ohm's Law

v = IR

↑ At = 10 mn - > S

-

I - Do

DQ = total # of e- (1 . 6x10-49)
le = 1 . 6x10-19C



Voltage across capacitiv

BoF UNF

(3
"

+ y
+) += 1

.

7/NF

-
11 by

=

OFCD 10 --(H) = 1
.
7(x10

I
S

Q= 1 . T1X10 (

DUB 4
.

275V



Unknown Capacitance
10nF & A)

en
=G

100 v

= (C+)=

30(( ,
+0) =Q

304 , +300=Q

C =+30
= 3004 .

286N



& rift velocity
nn charge densely

I = ngVA Vy = drict velocity
A = arey

# of - = # of a forms
(m-M

Xwo

6 places & of atons

⑮
n=Xa=(6 .82x123)

n = 6
.02x1026

= ngVs A

v==0

+) (4x10=3)

= 1
.
2978x10-4m/s



Equivalent Resistine

↳
t
① A and

C parallel

② A d D Series

⑤ A do B parallel



Fine R in Circuit with Switch

Switch open

jum
C with now
E

Rey?ge
Re = R + 2)

current doubles -> R decreases by 24

Roses = Rope
z

R+ = (2(r +
- )



Charge on Capactor

=

1) Eine Red

2) Fine Intel=
3) Br = Froth R



voltige across Capacitor

v =
IR

long time = capacitor
is "a break"

Rop =
401

Rootton =
40 d

U

Ftp==
0

. SA q-1 =V =DV

&mont
U . SA

"top-IR
= gV

"bottom = IR = IV



Two hop Circuit

Loop
1 : (8 +4) = li + 2i ,

+ bis
12 = Birt biz

Loop 2 : 4 = Liz+ biz

Suncim Re: I ,
+ Iz= Es

0 =
I ,

+ 12 = Is

Sitet Lp1-Lop2 > 8 = Si
, -212

hap 2 + Sortin Rol
= ) 4 = bi

,
+bic

Combine =7 36 =Wil

i, 2



Electron Orbiting Hydrogen

g from C.M

B=I I circumference
in 1 T

T = L V= 2

I= > Det A f = I
T

f =r
I= Cyet

↑



Three Parallel wires

No d= cm -Th

Find 2(E) sinbo·



Every of Undeffelt Election

E

·!
FE = FB

=qu =7O
S

k= Ear2

Jorks eV=o
+



Torque en Circular hoop

-

B
-

=be
-

->

T = NBSin@

N =magnetic moment

N =NIA -A
=Tr



·mu
V

Vo2 =9.
E = Blusinf

9
& Vo +gat

E= Blu It=



Right Hour Pull

o
F

*
~

E



·app Steel Base
Y

X X

v
=? !+

F -

XX
X

Tv= O

I
i

E =Blv

D
Dy ↓ 5 = 9 . 0

uf = Not
abt

↓ Vf = 2 + 9 .

0(bt)

->voi

.9x10T



Every stored in Inductor

Find Lu L=A

L-inductance VLIh
l-length



Force on a Bar

FEqvB = IlB

F = IlB

E = Blv

V = IR
E = DV

E = IR

E
I = R



Rath of Change of Current in Inducts

Definition of
self inductance

Av = -(

D
Le inductance

=W



Change on Fiel of Rectangular (i)

N ①
=l xw

Il

N)
6 = B -A

&

B



Inductor with series in Lamp
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Pulsen Laser
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